AP Calculus AB
Trigonometry Review

Ex 1) Find the 6 trig ratios of ;7-42 ; Ex 2) Find each of the following:
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Ex 3) Find each of the following, if it exists:

a) sin(-270°) b) tan 3w ¢) sec (—7/2) d) tan (37/2)
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Ex 4) Find the exact value of each expression without a calculator: e \» J \ vo)
1 5 2 3)2 R

a) sin*l(—j b) sin—l[— —zj c) sin_l(zj d) sin_l[sin %j]
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Ex 5) Simplify each expression below using trig identities:

a) sin’x + sin x cos®x b) (secx +1)(secx —1) c‘d5x, Cosx  sinx (| Strvd
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Ex 6) Find all values of x in the interval [0, 27) that solve each of the following equations:

0L % L2«%  a) 2sin(3x)=1 \ b) 2sinx + sinx = 1
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Ex 7) Write each of the following asa single, simplitied trig exXpre ‘ \ /Q_J
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